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1) The inverse of the function f ={(0,3),(-2.1),(3,4),(5-2),(L7)} is .
A] f 71 {(3 O),(l,—2),(4,3),(—2,5),(7,1)} ®
B] f *={(0,3),(L-2).(4.3),(~2.5),(7.1)}
c] f {(0,3),(—2,1),(4,3),(—2,5),(7,1)}
D] f _1—{( 2,1),(3,4),(5,—2),(1,7),(0,3)}

2) Find the inverse of the function f (x)=2x +3.

1=‘1(><)=L3 B]f *(x )_X—3 0)
eI ) =X @f-l(x)=37

3) Find the inverse of the function f (x)=3-2x..
B 00=5—-  BIf =22
et )——3 BIf “x)- o

4) Find the inverse of the function f (x):B—XE.

Alf *(x)=6-2x © [B]f (x)=2x —6

c]f *(x)=3-2x D]f ‘1(x):6LX
5) Find the inverse of the function f (x)=+/2x —3.
x? -3 1
AT (x)= f(x)=
(x) (x) N

2

et =22 GILER

6) Find the inverse of the function f (x)=3/3—2x .

B0 =2 +3 B {(x)="

C

fl(x)=3r_2X Blf “(x)="




7) Find the inverse of the function f (x)=(2x +3)*,x e[O,oo).

=22 B () =(2x +3)°
_ \/_+3 X —

c] 7 (x)= D]f “(x)= \/_

8) Find the inverse of the function f (x)=—(x —3)3.
] f *(x)=3+3x B]f *(x)=%x +3
f'x)=3¥x+3 0 D]f *(x)=(x =3)°

9) Find the inverse of the function f (x):XLg.
A 200 =— 2 B ) =[] f ) =0 [Blf ) =2

X -1 X +1 X -1 X

10) Find the inverse of the function f (x)=X—_3.
X

3 X 3 3
Alf "(x)=——0[B]f "X)=—— [c] f '"(x)=——[D]f '(x)=— —
()= 0B ()= B f =B )=

11) Find the inverse of the function f (x) = X +§.
f—l(X):SX +2 Bl (x )_3x +2 o
+1
-2
f7(x)= f(x)=
c] f 7 (x)= 1 [D]f ~(x) X+2
12) Find the inverse of the function f (x):\/x_+5.
1
Alf (x)=(x =5)7 f*(x)=
(x)=(x —9) (x) N
f 7 (x)=(x +5)° DIf "(x)=(x -5 ©

13) Find the inverse of the function f (x)—%,"’_5
AIf 00 =3x" 0 [B]f 00 J— ] f0)== DIf )=

14) Find the inverse of the function f (x)=2x°-5.

.f—l(x)_ f_l(X):3X+5

2X 3—5

RORT BIf () =7




X +2

5
f(x):3X52 BIf “(x)=5x°+2
+
f *(x)=2-5x° D]f *(x)=5%x°-2 0

15) Find the inverse of the function f (x) =3

16) Evaluate 2"9%(5x +3).
[A]B5X +3 ® log(5x +3) 3X +5 [D] 3—-5x

17) Evaluate log,2""
3-5x 205%+3) log(5x +3) [D]5x +36

18) log, 64 —log,32+log, 2=
1 20 [c]3 []o

19) log, 27 —log,81+5log, 3=
40 1 Ic]3 D] 0

20) log,54—log, 2=
1 2 cl3® [D]4

21) If log,(6+2x)=1,then X =

1 B] -1 c]2 D] 20
22) If In(x +3)=5,then x =

Al e°-3 0 B]e®+3 [cle® D] 5
23) If In(x)=5,then x =

5 [B]e®+5 cle® © D] In5
24) If e®® =5 then x =

3+2In5 In52—3 ® [E]In5-3 |EII%S_?)
25) log,2=
In2 In3

— 0O [B]— [c]lh2-In3 [Dp]1
In3 In2

26) log25+Ilog4 =
All1 [Bl2® [c]4 Do

27) log,18 —log,6 =
A]1® [B]2 [€]3 [DJoO

28) log,6—log,15+log, 20 =
A]1 [B]2 [€]3© [D]oO




29) e3In2 —

8 © 2 [c]4 [Dp]8
30) If 3** =6 ,then x =
~1+log, 2 0 Cli+log,2 [D] 1-log,2®
31) Find the inverse of the function f (x)=5+Inx .
Ale*™® ® [B]e*™ Inx —5 [D]Inx
32) Find the domain of the function f (x)=sin"*(3x +5).
of2-4) s 3o o]

33) Find the domain of the function f (x)=cos™*(3x —5).

st

4

4

[‘5'2} c) [22] @[5’2}@

34) Find the domain of the function f (x)=2sin"(x) +1.

[A](-11) [B][-2,0] [-11]e  [p][-2.2]
35) sm{g}_
5 BZ © €12 D] =
2 3 6 4
36) cos{?}_
1 Bl e D] =
2 3 6 4
1
37) tan‘l(— =
&
5 B]Z clZ e D] =
2 3 6 4
i 1
38) sm‘l(— =
7)
T T T T
Al = z cl= Z e
2 N L
39) If « =cos‘1(ij, then tana =
13
2 13 2 3
Al — =2 cl= © =
= : Ik




3
40 If & =cos™| — |, then csca =
) &)
2 J13 2 3
Al —— 2 6 cl=s =
= 5 -k
41) If :cos‘l(%j, then csca =
3 S 4 3
— B]- © c]~ D] —
5 3 3 4
42) If o :cos‘l(%j, then cota =
3 S 4 3
- B] - cl- e [b]-=
5 3 3 4
43) If o :cos‘l(%j, then tana =
3 S 4 3
= = c]~ D] ~6
5 3 3 4
44) If o :cos‘l(%j, then sina =
3 5 4 3
egyQ) B] - c]~ D] —
5 3 3 4
45) sin(cos‘1 ﬂD:
5
3 5 4 3
- 0 B] > c]- D] —
5 3 3 4
46) tan (cos‘1 (%D =
3 5 4 3
= B] - c]~ D] - @
5 3 3 4
47) sin(Zsin‘{éD = (Use the identity sin(2x ) =2sinx cosx )
2321 421
Al — — 0
A 25 25
421 5 10
5 J21




48) cos(tan*x ) =
1 X x?+1
: Q) : clvx?+1
X +1 X +1 X
49) sin(tan‘lx ) =
1 X x2+1
: — ® [Cc]Vx*+1
X“+1 X“+1 X
50) csc(tan™x )=
1 X 2+1
: : clVx?+1 Q]
X“+1 X +1 X
51) sec(tan™x )=
2
1 X 21 0 X +1
x2+1 x2+1 X
52) sec(sin‘lij =
X 3 9—x? 9—x?
V9—x? 9—x? 3 X
53) cot(sin‘lij =
X 3 9—x? 9—x?
—— ®
V9 —x? 9—x? 3 X
54) tan (sin‘1 ij =
3
X 3 9—x? 9—x?
® D]
9—x? 9—x 3 X
55) cos (sin‘lij =
3
X 3 9—x? 9—x?
® D]
9—x? 9—x? 3 X




